Distributive Law of Multiplication Practice

Name: Date:
Question 1
Distribute then solve if possible
| 9(4+7+9)= V. 2(8-2-3)=
Il -11(x2+4x-7)= V. 45(15x3+4)=
Il. 5(y2+8y-3x)= VI 2(xy+y-Xx)=
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Distributive Law of Multiplication Practice

Name: Key

Question 1
Distribute then solve if possible

. 9(4+7+9)=
l distributive law

+63+81=

Il -1 +4x-7)=-11x2-44x +

ldistributive law

-11x%-44x +

Il 5(/2+8y-3x)= + -15x

ldistributive law

+ -15x%

Date:

V. 2(8-2-3)=6
l distributive law

-4-6=6

V. 4505 +4)=6. +

l distributive law

+

VI, 2(xy+vyv-x)= +2y-2Xx

ldistributive law

+ 2y - 2X
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